## **Inventory List-ZYMYRGY**

| Inventory ID     | Brand/Character | Description                                    | Cover<br>Price | Quantity<br>in Stock | Appraised<br>Value | Inventory<br>Value2 | Vol. | Issue | Publisher     | Date of<br>Publishmen | Cover<br>Scan |
|------------------|-----------------|--|----------------|----------------------|--------------------|---------------------|------|-------|---------------|-----------------------|---------------|
| 01 Comic Book    | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 01 Comic Book    | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 01 Comic Book    | Ash             | Ash Zero                                       | \$3.50         | 2                    | \$7.00             | \$7.00              |      | 0     | Event         | May-96                | NO            |
| 01 Comic Book    | Ash             | Ash Zero (Alt. Cover)                          | \$3.50         | 1                    | \$3.50             | \$3.50              |      | 0     | Event         | May-96                | NO            |
| 01 Comic Book    | Ash             | Ash 1(Collector 1st Issue)                     | \$2.50         | 11                   | \$27.50            | \$27.50             | 1    | 1     | Event         | November-94           | NO            |
| 01 Comic Book    | Ash             | Ash 2  | \$2.50         | 9                    | \$22.50            | \$22.50             | 1    | 2     | Event         | January-95            | NO            |
| 01 Comic Book    | Ash             | Ash 3  | \$2.50         | 14                   | \$35.00            | \$35.00             | 1    | 3     | Event         | May-95                | NO            |
| 01 Comic Book    | Ash             | Ash 4  | \$2.50         | 8                    | \$20.00            | \$20.00             | 1    | 4     | Event         | July-95               | NO            |
| 01 Comic Book    | Ash             | Ash 5  | \$2.50         | 1                    | \$2.50             | \$2.50              | 1    | 5     | Event         | September-95          | NO            |
| 01 Comic Book    | Ash             | Ash 6  | \$2.50         | 1                    | \$2.50             | \$2.50              | 1    | 6     | Event         | December-95           | NO            |
| 01 Comic Book    | Ash             | Ash 6 (Alt. Cover)                             | \$2.50         | 1                    | \$2.50             | \$2.50              | 1    | 6A    | Event         | December-95           | NO            |
| 01 Comic Book    | Ash             | Ash:Cinder & Smoke                             | \$2.95         | 1                    | \$2.95             | \$2.95              | 1    | 5     | Event         | September-96          | NO            |
| 01 Comic Book    | Ash             | Ash:The Fire Within                            | \$2.95         | 1                    | \$2.95             | \$2.95              | 1    | 1     | Event         | September-96          | NO            |
| 01 Comic Book    | Ash             | Ash:The Fire Within                            | \$2.95         | 1                    | \$2.95             | \$2.95              | 1    | 2     | Event         | January-97            | NO            |
| 01 Comic Book    | Avengeblade     | Avengeblade (Leifield Parody)                  | \$2.99         | 4                    | \$11.96            | \$11.96             | 1    | 2     | Maximum Press | August-96             | NO            |
| 01 Comic Book    | Avengelyne      | Avengeblade                                    | \$2.50         | 1                    | \$2.50             | \$2.50              | 1    | 2     | Maximum Press | July-96               | NO            |
| 01 Comic Book    | Avengelyne      | Avengeblade (Priest 1st Edition)               | \$2.50         | 1                    | \$2.50             | \$2.50              | 1    | 3     | Maximum Press | July-96               | NO            |
| 01 Comic Book    | A-X             | A-X (Gold Cover-Limited)                       | \$2.95         | 1                    | \$2.95             | \$2.95              | 1    | 1     | Malibu        |                       | NO            |
| 01 Comic Book    | A-X             | The Man Called A-X (1B)                        | \$2.95         | 1                    | \$2.95             | \$2.95              | 1    | 1     | Malibu        |                       | NO            |
| 01 Comic Book    | Batman          | Vengance of Bane                               | \$2.50         | 2                    | \$5.00             | \$5.00              | Е    | 1     | DC            | January-93            | NO            |
| 01 Comic Book    | Shilo           | Shilo - The Devil's Own Day (Civil War Battle) | \$3.50         | 2                    | \$7.00             | \$7.00              | 1    | 1     | Heritage      | January-95            | NO            |
| 02 Annual        | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       |               |
| 02 Annual        | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       |               |
| 02 Annual        | Deathstroke     | Deathstroke Bloodlines                         | \$3.50         | 1                    | \$3.50             | \$3.50              | Α    | 2     | DC            | July-93               | NO            |
| 02 Annual        | Green Lantern   | Green Lantern Bloodlines                       | \$2.50         | 1                    | \$2.50             | \$2.50              | Α    | 2     | DC            | July-93               | NO            |
| 02 Annual        | Hawkman         | Hawkman Bloodlines                             | \$3.50         | 1                    | \$3.50             | \$3.50              | Α    | 1     | DC            | July-93               | NO            |
| 02 Annual        | Infinity Inc    | Special Crises Crossover                       | \$2.00         | 1                    | \$2.00             | \$2.00              | Α    | 1     | DC            | July-93               | NO            |
| 02 Annual        | Legion          | Legionnaires Elseworlds                        | \$2.95         | 1                    | \$2.95             | \$2.95              | Α    | 1     | DC            | July-93               | NO            |
| 03 Crossover     | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 03 Crossover     | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 04 Manga         | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 04 Manga         | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 05 Posters/Cards | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 05 Posters/Cards | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       | NO            |
| 06 Graphic Nove  | •               |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       |               |
| 06 Graphic Nove  | Sample          |  |                |                      | \$0.00             | \$0.00              |      |       |               |                       |               |
| 06 Graphic Nove  | ,               | Dark One's 3rd Eye                             | \$4.95         | 3                    | \$14.85            | \$14.85             | E    | 1     | Sirius        | January-95            | NO            |
| 06 Graphic Nove  | 3rd Eye         | Dark One's 3rd Eye (spine)                     | \$4.95         | 2                    | \$9.90             | \$9.90              | E    | 1     | Sirius        | January-95            | NO            |

| 06 Graphic Nove Appleseed        | Book 3 (spine)                     | \$14.95 | 1 | \$14.95  | \$14.95  | В | 3 | Dark Horse | January-95   | NO |
|----------------------------------|------------------------------------|---------|---|----------|----------|---|---|------------|--------------|----|
| 06 Graphic Nove Appleseed        | Databook                           | \$12.95 | 1 | \$12.95  | \$12.95  | E | 1 | Dark Horse | January-95   | NO |
| 06 Graphic Nove Aster            | Trade Paperback #1                 | \$2.95  | 2 | \$5.90   | \$5.90   | Е | 1 | Entity     | January-95   | NO |
| 06 Graphic Nove Batman           | The Cult:: Ordeal                  | \$3.95  | 2 | \$7.90   | \$7.90   | В | 1 | DC         | January-88   | NO |
| 06 Graphic Nove Batman           | The Cult:: Capture                 | \$3.95  | 1 | \$3.95   | \$3.95   | В | 2 | DC         | March-88     | NO |
| 06 Graphic Nove Batman           | The Cult:: Escape                  | \$3.95  | 2 | \$7.90   | \$7.90   | В | 3 | DC         | June-88      | NO |
| 06 Graphic Nove Batman           | The Cult:: Combat                  | \$3.95  | 1 | \$3.95   | \$3.95   | В | 4 | DC         | September-88 | NO |
| 06 Graphic Nove Batman           | Dark Allegiances                   | \$2.95  | 1 | \$2.95   | \$2.95   | Е | 1 | DC         | September-95 | NO |
| 06 Graphic Nove Batman           | The Dark Knight Falls              | \$2.95  | 2 | \$5.90   | \$5.90   | В | 4 | DC         | September-95 | NO |
| 06 Graphic Nove Batman           | Dark Knight Triumphant             | \$2.95  | 1 | \$2.95   | \$2.95   | В | 4 | DC         | September-95 | NO |
| 06 Graphic Nove Batman           | Full Circle                        | \$5.95  | 2 | \$11.90  | \$11.90  | Е | 1 | DC         | January-91   | NO |
| 06 Graphic Nove Batman/Grendel   | Devil's Masge                      | \$4.95  | 1 | \$4.95   | \$4.95   | В | 2 | DC/Comico  | June-93      | NO |
| 06 Graphic Nove Batman/Grendel   | Devil's Riddle                     | \$4.95  | 1 | \$4.95   | \$4.95   | В | 1 | DC/Comico  | January-93   | NO |
| 06 Graphic Nove Batman/Grendel   | Devil's Riddle (spine)             | \$4.95  | 1 | \$4.95   | \$4.95   | В | 1 | DC/Comico  | January-93   | NO |
| 06 Graphic Nove Batman           | Ghosts                             | \$4.95  | 1 | \$4.95   | \$4.95   | Е | 1 | DC         | January-93   | NO |
| 06 Graphic Nove Batman           | Holy Terror                        | \$4.95  | 1 | \$4.95   | \$4.95   | Е | 1 | DC         | January-95   | NO |
| 06 Graphic Nove Batman           | Houdini: The Devil's Workshop      | \$4.95  | 1 | \$4.95   | \$4.95   | Е | 1 | DC         | January-94   | NO |
| 06 Graphic Nove Batman           | Hunt the Dark Knight               | \$2.95  | 1 | \$2.95   | \$2.95   | В | 3 | DC         | June-95      | NO |
| 06 Graphic Nove Batman           | Manbat Book One                    | \$4.95  | 8 | \$39.60  | \$39.60  | В | 1 | DC         | October-95   | NO |
| 06 Graphic Nove Batman           | Manbat Book Two                    | \$4.95  | 6 | \$29.70  | \$29.70  | В | 2 | DC         | November-95  | NO |
| 06 Graphic Nove Batman           | Manbat Book Three                  | \$4.95  | 6 | \$29.70  | \$29.70  | В | 3 | DC         | December-95  | NO |
| 06 Graphic Nove Batman           | Manbat (slight)                    | \$4.95  | 2 | \$9.90   | \$9.90   | В | 2 | DC         | November-95  | NO |
| 06 Graphic Nove Batman           | Mask of the Phantasm               | \$4.95  | 1 | \$4.95   | \$4.95   | Е | 1 | DC         | September-95 | NO |
| 06 Graphic Nove Batman           | Master of the Future               | \$5.95  | 1 | \$5.95   | \$5.95   | Е | 1 | DC         | September-94 | NO |
| 06 Graphic Nove Batman           | Mitefall,Legend of the Dark Mite   | \$5.95  | 1 | \$5.95   | \$5.95   | Е | 1 | DC         | September-94 | NO |
| 06 Graphic Nove Batman           | Penguin Triumphant                 | \$5.95  | 4 | \$23.80  | \$23.80  | Е | 1 | DC         | September-94 | NO |
| 06 Graphic Nove Batman           | Batman Returns (Movie)             | \$5.95  | 3 | \$17.85  | \$17.85  | Е | 1 | DC         | January-92   | NO |
| 06 Graphic Nove Batman           | Batman Returns (Spine)             | \$5.95  | 1 | \$5.95   | \$5.95   | Е | 1 | DC         | January-92   | NC |
| 06 Graphic Nove Batman           | Year One                           | \$9.95  | 1 | \$9.95   | \$9.95   | Е | 1 | DC         | August-88    | NC |
| 06 Graphic Nove Batman/Spawn     | War Devil                          | \$4.95  | 7 | \$34.65  | \$34.65  | Е | 1 | DC         | August-94    | NO |
| 06 Graphic Nove Bill & Ted       | Bill & Ted's Bogus Journey         | \$2.95  | 1 | \$2.95   | \$2.95   | 1 | 1 | Marvel     | September-91 | NO |
| 06 Graphic Nove Black Orchid     | Book One                           | \$3.50  | 2 | \$7.00   | \$7.00   | В | 1 | DC         | January-96   | NO |
| 06 Graphic Nove Black Terror     | Seduction of Deceit Book 1         | \$3.50  | 1 | \$3.50   | \$3.50   | В | 1 | Eclipse    | January-96   | NO |
| 06 Graphic Nove Black Terror     | Seduction of Deceit Book 3         | \$3.50  | 1 | \$3.50   | \$3.50   | В | 3 | Eclipse    | June-96      | NO |
| 06 Graphic Nove Blood            | Blood, a Tale(cover)               | \$3.25  | 1 | \$3.25   | \$3.25   | V | 1 | Epic       | January-87   | NO |
| 06 Graphic Nove God of the Razor | Blood and Shadows: Book 1          | \$5.95  | 2 | \$11.90  | \$11.90  | В | 1 | Vertigo    | January-96   | NO |
| 06 Graphic Nove God of the Razor | Blood and Shadows: Book 3          | \$5.95  | 1 | \$5.95   | \$5.95   | В | 3 | Vertigo    | January-96   | NO |
| 06 Graphic Nove Phantom Stranger | Books of Magic:Invisible Labyrinth | \$12.50 | 8 | \$100.00 | \$100.00 | В | 1 | DC         | January-90   | NO |
| 06 Graphic Nove Breed            | Book of Genesis                    | \$29.95 | 1 | \$29.95  | \$29.95  | В | 1 | Malibu     | January-94   | NO |
| 06 Graphic Nove Captain America  | The Adventures of Captain America  | \$4.95  | 1 | \$4.95   | \$4.95   | 1 | 1 | Marvel     | September-91 | NO |
| 06 Graphic Nove Evil Ernie       | Chaos Bible #1                     | \$3.50  | 3 | \$10.50  | \$10.50  | 1 | 1 | Chaos!     | November-95  | NO |
| 06 Graphic Nove Lady Death       | Chaos Quarterly #1                 | \$5.00  | 5 | \$25.00  | \$25.00  | 1 | 1 | Chaos!     | January-96   | NO |
| 06 Graphic Nove Lady Demon       | Chaos Quarterly #2                 | \$4.95  | 5 | \$24.75  | \$24.75  | 1 | 2 | Chaos!     | January-96   | NO |
| 06 Graphic Nove Lady Demon       | Chaos Quarterly #2 (slight)        | \$4.95  | 1 | \$4.95   | \$4.95   | 1 | 2 | Chaos!     | January-96   | NO |
|                                  |                                    | 7       | - | ÷        | 7        | - | _ | 0003.      |              |    |

| 06 Graphic Nove I | Lady Death                            | Chaos Quarterly #3                   | \$4.95  | 6 | \$29.70 | \$29.70      | 1 | 2  | Chaos!       | January-96  | NO |
|-------------------|---------------------------------------|--------------------------------------|---------|---|---------|--------------|---|----|--------------|-------------|----|
| 06 Graphic Nove I | Lady Death                            | Chaos Quarterly #3 (slight)          | \$4.95  | 1 | \$4.95  | \$4.95       | 1 | 2  | Chaos!       | January-96  | NO |
| 06 Graphic Nove   | Horror                                | Creepy Book 2                        | \$3.95  | 2 | \$7.90  | \$7.90       | В | 2  | Harris       | January-92  | NO |
| 06 Graphic Nove   | Constantine                           | The Horrorist                        | \$5.95  | 3 | \$17.85 | \$17.85      | В | 1  | Verigo/DC    | December-95 | NO |
| 06 Graphic Nove   | Constantine                           | The Horrorist                        | \$5.95  | 3 | \$17.85 | \$17.85      | В | 2  | Verigo/DC    | January-96  | NO |
| 06 Graphic Nove   | Crow                                  | The Ceow/Auto/CoA                    | \$9.95  | 1 | \$9.95  | \$9.95       | Е | 1  | Kitchen Sink | January-94  | NO |
| 06 Graphic Nove   | Darkness                              | The Darness Collected Editions       | \$4.95  | 1 | \$4.95  | \$4.95       | 1 | 1  | Top Cow      | June-97     | NO |
| 06 Graphic Nove   | Darkseid/Galactus                     | The Huger; Darkseid vs. Galactus     | \$4.95  | 1 | \$4.95  | \$4.95       | Е | 1  | DC/Marvel    | January-95  | NO |
| 06 Graphic Nove I | Dead @ 17                             | Rough Cut                            | \$3.99  | 1 | \$3.99  | \$3.99       | 1 | 1  | Viper        | August-04   | NO |
| 06 Graphic Nove I | Dead @ 17                             | Rough Cut-San Diego Special Edition  | \$3.99  | 1 | \$3.99  | \$3.99       | 1 | 1  | Viper        | August-04   | NO |
| 06 Graphic Nove   | Death Dealer                          | Death Dealer #2                      | \$6.95  | 2 | \$13.90 | \$13.90      | В | 2  | Verotik      | May-96      | NO |
| 06 Graphic Nove   | Death Dealer                          | Death Dealer #2 (spine)              | \$6.95  | 4 | \$27.80 | \$27.80      | В | 2  | Verotik      | May-96      | NO |
| 06 Graphic Nove I | Dracula                               | Young Dracula: Diary of a Vampire    | \$18.95 | 1 | \$18.95 | \$18.95      | V | 1  | Caliber      | January-94  | NO |
| 06 Graphic Nove   | Dracula                               | Universal Monsters: Dracula          | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | Dark Horse   | January-93  | NO |
| 06 Graphic Nove   | Fafhrd/Grey Mauser                    | Fafhrd & Grey Mauser Book Four       | \$4.50  | 1 | \$4.50  | \$4.50       | 1 | 4  | Ep[c         | January-91  | NO |
| 06 Graphic Nove I | Fellowship of Light                   | The Magic Flute                      | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | Eclipse      | January-90  | NO |
| 06 Graphic Nove   | Fenry                                 | Hellbound Book 2 (spine)             | \$3.95  | 1 | \$3.95  | \$3.95       | В | 1  | Raven        | October-94  | NO |
| 06 Graphic Nove   | Jademan                               | The Gates of the Night               | \$3.50  | 1 | \$3.50  | \$3.50       | В | 4  | Jademan      | January-91  | NO |
| 06 Graphic Nove   | Gid                                   | Ruule/Ganglords of China Town        | \$2.99  | 1 | \$2.99  | \$2.99       | V | 2  | Becket       | January-04  | NO |
| <u> </u>          | Green Lantern/Siver Surfer            | Unholy Alliances                     | \$4.95  | 1 | \$4.95  | \$4.95       | Е | 1  | DC/Marvel    | January-95  | NO |
| 06 Graphic Nove   | · · · · · · · · · · · · · · · · · · · | The Griffen Book 1                   | \$4.95  | 2 | \$9.90  | \$9.90       | В | 1  | DC           | January-91  | NO |
| 06 Graphic Nove   | Griffen                               | The Griffen Book 2                   | \$4.95  | 1 | \$4.95  | \$4.95       | В | 2  | DC           | February-91 | NO |
| 06 Graphic Nove   |                                       | The Griffen Book 3                   | \$4.95  | 1 | \$4.95  | \$4.95       | В | 3  | DC           | March-91    | NO |
| 06 Graphic Nove   | Griffen                               | The Griffen Book 4                   | \$4.95  | 1 | \$4.95  | \$4.95       | В | 4  | DC           | April-91    | NO |
| 06 Graphic Nove   | Griffen                               | The Griffen Book 5                   | \$4.95  | 1 | \$4.95  | \$4.95       | В | 5  | DC           | May-91      | NO |
| 06 Graphic Nove   | Gundam 0083                           | Conspiracy of Silence                | \$4.95  | 1 | \$4.95  | \$4.95       | В | 8  | Viz          | January-94  | NO |
| 06 Graphic Nove I |                                       | Clive Barker's Hellraiser            | \$4.95  | 1 | \$4.95  | \$4.95       | В | 16 | Epic         | January-93  | NO |
| 06 Graphic Nove   | Gregory                               | Herman Vermin'sBook                  | \$4.95  | 3 | \$14.85 | \$14.85      | В | 2  | Piranha      | January-92  | NO |
| 06 Graphic Nove I |                                       | Bounty Hunting for Fun & Profit      | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | DC           | January-93  | NO |
| 06 Graphic Nove I | Lobo                                  | Lobo's Greatest Hits                 | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | DC           | January-93  | NO |
| 06 Graphic Nove I | Madman                                | Trapped by Gravity                   | \$3.95  | 1 | \$3.95  | \$3.95       | В | 1  | Tundra       | January-96  | NO |
| 06 Graphic Nove   |                                       | My Name is Chaos                     | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | DC           | January-93  | NO |
| ·                 | Manhunter/Hour Man                    | The Golden Age (cover)               | \$4.95  | 1 | \$4.95  | \$4.95       | В | 3  | DC           | January-93  | NO |
| 06 Graphic Nove   | ·                                     | Nausicaa of the Valley of Wind       | \$2.95  | 1 | \$2.95  | \$2.95       | Р | 2  | Viz          | January-90  | NO |
| 06 Graphic Nove   |                                       | A Tale of the Superhuman             | \$4.95  | 1 | \$4.95  | \$4.95       | В | 4  | DC           | January-91  | NO |
| 06 Graphic Nove   |                                       | Birth of the Cyberangel              | \$12.95 | 1 | \$12.95 | \$12.95      | V | 1  | Entity       | January-94  | NO |
| 06 Graphic Nove   |                                       | Nosferatu                            | \$3.95  | 1 | \$3.95  | \$3.95       | V | 1  | Dark Horse   | January-93  | NO |
| 06 Graphic Nove   |                                       | On a Pale Horse                      | \$4.95  | 1 | \$4.95  | \$4.95       | В | 1  | Innovation   | January-92  | NO |
| 06 Graphic Nove   | ·                                     | On a Pale Horse                      | \$4.95  | 2 | \$9.90  | \$9.90       | В | 5  | Innovation   | January-94  | NO |
| 06 Graphic Nove   | •                                     | Disney's Pocahontas (cover)          | \$4.95  | 2 | \$9.90  | \$9.90       | V | 1  | Marvel       | July-95     | NO |
| 06 Graphic Nove   |                                       | Requiem for an Elf (slight)          | \$14.95 | 2 | \$29.90 | \$29.90      | V | 1  | Sirius       | January-96  | NO |
| 06 Graphic Nove   |                                       | The Prisoner: Arrival                | \$3.50  | 1 | \$3.50  | \$3.50       | В | a  | DC           | January-88  | NO |
| 06 Graphic Nove   |                                       | Die Hard in the Big Easy             | \$4.95  | 1 | \$4.95  | \$4.95       | 1 | 1  | Marvel       | January-92  | NO |
| 06 Graphic Nove I |                                       | The Ghosts of Innocents/Book 2 of 2  | \$5.95  | 1 | \$5.95  | \$5.95       | 1 | 1  | Marvel       | January-93  | NO |
| oo Grapilic Nove  | rumaner                               | THE GHOSES OF HIMOCENES/ DOOK Z OF Z | \$5.55  | 1 | JJ.35   | <b>32.33</b> | 1 | 1  | ividivel     | January-33  | NU |

| 06 Graphic Nove |                           | Punisher POV/Book 1 of 4                         | \$5.95  | 2 | \$11.90 | \$11.90 | 1     | 1      | Marvel           | January-91   | NO |
|-----------------|---------------------------|--|---------|---|---------|---------|-------|--------|------------------|--------------|----|
| 06 Graphic Nove |                           | Punisher POV/Book 2 of 4                         | \$5.95  | 1 | \$5.95  | \$5.95  | 1     | 1      | Marvel           | April-91     | NO |
| 06 Graphic Nove |                           | Punisher POV/Book 4 of 4                         | \$5.95  | 1 | \$5.95  | \$5.95  | 1     | 1      | Marvel           | October-91   | NO |
| 06 Graphic Nove | Punisher/Captain America  | Blood & Glory/Book 1 of 3                        | \$4.95  | 1 | \$4.95  | \$4.95  | 1     | 1      | Marvel           | January-94   | NO |
| 06 Graphic Nove | Ray                       | The Ray: In a Blaze of Power                     | \$12.95 | 1 | \$12.95 | \$12.95 | В     | 1      | DC               | January-94   | NO |
| 06 Graphic Nove | Sandman                   | Midnight Theatre                                 | \$4.95  | 5 | \$24.75 | \$24.75 | V     | 1      | Vertigo          | September-95 | 4  |
| 06 Graphic Nove | Satanika                  | The Brimstone Trail (Mature Only)                | \$9.95  | 1 | \$9.95  | \$9.95  | V     | 1      | Verotik          | March-96     | NO |
| ·               | Bubble Gum Crisis/Ranma 1 | SETTIE: Anime Reference Guide                    | \$7.95  | 7 | \$55.65 | \$55.65 | V     | 1      | Antarctic Press  | March-93     | NO |
| 06 Graphic Nove | Magic: the Gathering      | Serra Angel: A Fable of Dominaria                | \$5.95  | 5 | \$29.75 | \$29.75 | В     | 1      | Acclaim          | January-93   | NO |
| 06 Graphic Nove | Shado                     | Shado: Song of the Dragon                        | \$4.95  | 1 | \$4.95  | \$4.95  | В     | 2      | DC               | January-99   | NO |
| 06 Graphic Nove | Shadowhawk                | Shadowhawks of Legend                            | \$4.95  | 2 | \$9.90  | \$9.90  | V     | 1      | Image            | January-95   | NO |
| 06 Graphic Nove | Shadowmasters             | Rise of the Eternal Sun (Group Origin)           | \$3.95  | 1 | \$3.95  | \$3.95  | 1     | 3      | Marvel           | December-89  | NO |
| 06 Graphic Nove | Shion                     | Blade of the Minstrel                            | \$9.95  | 1 | \$9.95  | \$9.95  | V     | 1      | Viz              | January-93   | NO |
| 06 Graphic Nove | Silver Surfer             | The Coming of Galactus                           | \$5.95  | 1 | \$5.95  | \$5.95  | V     | 1      | Marvel           | January-96   | NO |
| 06 Graphic Nove | Spawn                     | Spawn Trade Paperback 1992-1996                  | \$9.95  | 1 | \$9.95  | \$9.95  | 1     | 2      | Image            | June-96      | NO |
| 06 Graphic Nove | Spawn/Batman              | Spawn/Batman                                     | \$4.95  | 2 | \$9.90  | \$9.90  | E     | 1      | Image            | June-96      | NO |
| 06 Graphic Nove | Star Wars                 | The Empire Strikes Back                          | \$3.95  | 3 | \$11.85 | \$11.85 | Е     | 2      | Dark Horse       | January-94   | NO |
| 06 Graphic Nove | Star Wars                 | Return of the Jedi                               | \$3.50  | 1 | \$3.50  | \$3.50  | Е     | 2      | Dark Horse       | January-94   | NO |
| 06 Graphic Nove | Superman                  | Adventures of Superman #500                      | \$2.95  | 1 | \$2.95  | \$2.95  | 1     | 1      | DC               | November-93  | NO |
| 06 Graphic Nove | Superman                  | Death of Superman-Collector's Set                | \$2.95  | 1 | \$2.95  | \$2.95  | 1     | 1      | DC               | January-93   | NO |
| 06 Graphic Nove | Superman                  | Doomsday: Hunter/Prey Book 2                     | \$4.95  | 4 | \$19.80 | \$19.80 | В     | 2      | DC               | February-94  | NO |
| 06 Graphic Nove | Superman                  | Doomsday: Hunter/Prey Book 3 (spine)             | \$4.95  | 1 | \$4.95  | \$4.95  | В     | 3      | DC               | March-94     | NO |
| 06 Graphic Nove | Superman/Batman           | Legends of the World's Finest Book 1             | \$4.95  | 2 | \$10.50 | \$9.90  | 1     | 1      | DC               | June-94      | NO |
| 06 Graphic Nove | TV Avengers               | Steed and Mrs. Peel                              | \$3.60  | 1 | \$3.60  | \$3.60  | В     | 2      | Eclipse          | January-99   | NO |
| 06 Graphic Nove | -                         | Twighlight                                       | \$4.95  | 1 | \$4.95  | \$4.95  | В     | 2      | DC               | January-93   | NO |
| •               | TMNT/Milk & Cheese        | Munden's Bar Annual #2                           | \$4.95  | 1 | \$4.95  | \$4.95  | V     | 2      | First Publishing | January-91   | NO |
| 06 Graphic Nove |                           | Worldengine                                      | \$9.95  | 1 | \$9.95  | \$9.95  | В     | 1      | Marvel           | January-93   | NO |
| 06 Graphic Nove |                           | Vampirella Flip Book                             | \$6.95  | 1 | \$6.95  | \$6.95  | В     | 1      | Harris           | January-98   | NO |
| 06 Graphic Nove |                           | Winters Edge (Sandman, Constantine, Swamp Thing) | \$6.95  | 1 | \$6.95  | \$6.95  | 1     | 3      | Vertigo          | December-00  | NO |
| 06 Graphic Nove | •                         | Compendium/#0 Comic                              | \$9.95  | 7 | \$69.65 | \$69.65 | E     | 1      | Image            | January-93   | 6  |
|                 | WildC.A.T.s /Cyber Force  | Deathmate Black                                  | \$4.95  | 9 | \$44.55 | \$44.55 | E     | Black  | Image/Valiant    | September-93 | NO |
| •               | WildC.A.T.s /Cyber Force  | Deathmate Gold                                   | \$4.95  | 1 | \$4.95  | \$4.95  | E     | Gold   | Image/Valiant    | October-93   | NO |
| •               | WildC.A.T.s /Cyber Force  | Deathmate Yellow                                 | \$4.95  | 2 | \$9.90  | \$9.90  | E     | Yellow | Image/Valiant    | October-93   | NO |
|                 | . ,                       |  |         | 1 |         |         | 1     | 3      |                  |              | NO |
| 06 Graphic Nove |                           | Wolverine Saga: The Man Reborn                   | \$3.95  | 1 | \$5.00  | \$3.95  |       |        | Marvel           | December-89  |    |
| 06 Graphic Nove |                           | Wolverine Saga: The Hero Triumphant              | \$3.95  |   | \$5.00  | \$3.95  | 1     | 4      | Marvel           | December-89  | NO |
| •               | Wonder Woman              | The Contest                                      | \$9.95  | 2 | \$19.90 | \$19.90 | 1     | 4      | Marvel           | December-89  | NO |
| 06 Graphic Nove |                           | X-Men 2099: Oasis (spine)                        | \$5.95  | 4 | \$23.80 | \$23.80 | 1     | 1      | Marvel           | August-96    | NO |
|                 | Youngblood/X-Force        | Youngblood/X-Force                               | \$4.95  | 1 | \$4.95  | \$4.95  | 1     | 1      | Image/Marvel     | July-96      | NO |
|                 | Youngblood/X-Force        | Youngblood/X-Force (spine)                       | \$4.95  | 1 | \$4.95  | \$4.95  | 1     | 1      | Image/Marvel     | July-96      | NO |
| 06 Graphic Nove |                           | Tiberius Curse                                   | \$6.95  | 2 | \$13.90 | \$13.90 | 1     | 1      | Entity           | January-94   | NO |
| 06 Graphic Nove |                           | Tiberius Curse (cover)                           | \$6.95  | 2 | \$13.90 | \$13.90 | 1     | 1      | Entity           | January-94   | NO |
| 06 Graphic Nove | Zen/Nira                  | The Hunted (cover)                               | \$6.95  | 1 | \$6.95  | \$6.95  | 1     | 1      | Entity           | January-94   | NO |
| 07 Hard Cover   | Sample                    |  |         |   | \$0.00  | \$0.00  |       |        |                  |              | NO |
| 07 Hard Cover   | Usagi Yojimbo             | Book 4/Auto/CoA                                  | \$2.95  | 1 | \$2.95  | \$2.95  | -1500 | #988   | Fantagraphics    | November-90  | NO |

| 07 Hard Cover  | Areala, Warrior Nun       | The Collected/Auto/CoA                                       | \$24.95 | 1  | \$24.95 | \$24.95 | -1000 | 423 | Antarctic Press | June-95      | NO |
|----------------|---------------------------|--|---------|----|---------|---------|-------|-----|-----------------|--------------|----|
| 07 Hard Cover  | Bone                      | The Great Cow Race   | \$22.95 | 1  | \$22.95 | \$22.95 | 2     | 1   | Cartoon Books   | January-96   | NO |
| 07 Hard Cover  | Sandman                   | Preludes and Nocturnes                                       | \$29.95 | 1  | \$29.95 | \$29.95 |       |     | Vertigo         |              | NO |
| 07 Hard Cover  | Sandman                   | Dream Country  | \$29.95 | 1  | \$29.95 | \$29.95 |       |     | Vertigo         |              | NO |
| 07 Hard Cover  | Solar                     | Alpha and Omega  | \$25.00 | 1  | \$25.00 | \$25.00 |       | 0   | Valiant         |              | NO |
| 07 Hard Cover  | Prime                     | Prime Time Collection  | \$45.95 | 1  | \$45.95 | \$45.95 | V     | 1   | Malibu          |              | NO |
| 07 Hard Cover  | WildC.A.T.s               | Compendium/#0 Comic  | \$45.95 | 1  | \$45.95 | \$45.95 | Е     | 1   | Image           |              | NO |
| 07 Hard Cover  | Zen                       | The Hunted/Auto/CoA  | \$29.95 | 1  | \$29.95 | \$29.95 | -200  | 65  | Entity          |              | NO |
| 07 Hard Cover  | Zen                       | The Hunted/Auto/CoA  | \$29.95 | 1  | \$29.95 | \$29.95 | -200  | 52  | Entity          |              | NO |
| 07 Hard Cover  | Sin City                  | A Dame to kill for   | \$25.00 | 1  | \$25.00 | \$25.00 |       |     | Dark Horse      |              | NO |
| 08 Promotional | Sample                    |  |         |    | \$0.00  | \$0.00  |       |     |                 |              | NO |
| 08 Promotional | Sample                    |  |         |    | \$0.00  | \$0.00  |       |     |                 |              | NO |
| 08 Promotional | Ash                       | 1995 Wizard #53/Ash Mini Comic #4 (Wizard Promo)             | \$0.00  | 1  | \$7.50  | \$7.50  | DE    | 4   | Event           | January-95   | NO |
| 08 Promotional | Ash                       | 1997 Wizard/Ash 1/2 Event(Wizard Promo)                      | \$0.00  | 1  | \$6.50  | \$6.50  | DE    | 0   | Event           | April-97     | NO |
| 08 Promotional | Batman/Dark Joker         | Batman/Dark Joker: The Wild (Sealed #04427/Grn. Foil Ask     | \$0.00  | 1  | \$18.00 | \$18.00 | HP    | 8   | DC              | January-93   | NO |
| 08 Promotional | Batman/Grendle            | Batman/Grendle: Hero Premier #2 (Sealed #00113/GF Ash        | \$0.00  | 1  | \$30.00 | \$30.00 | HP    | 2   | DC              | January-93   | NO |
| 08 Promotional | Bloodshot                 | Bloodshot #1 Valiant Fall 2019 Preview (FCBD Promo)          | \$0.00  | 1  | \$2.95  | \$2.95  | DE    | 1   | Valiant         | October-19   | NO |
| 08 Promotional | Captain Marvel            | Captain Marvel #0 (Wizard Promo)                             | \$0.00  | 1  | \$4.95  | \$4.95  | DE    | 0   | Marvel          | January-99   | NO |
| 08 Promotional | Damsels Mermaids          | Damsels Mermaids #0 (FCBD Promo)                             | \$0.00  | 1  | \$2.95  | \$2.95  | 1     | 0   | Dynamite        | January-13   | NO |
| 08 Promotional | Evil Ernie                | Evil Ernie: Staright to Hell #-1 Prologue! (Wizard Ashcan Pr | \$0.00  | 12 | \$6.00  | \$72.00 | 1     | 0   | Chaos!          | September-95 | NO |
| 08 Promotional | Fire from Heaven          | Fire from Heaven #1/2 (Wizard #57 Promo/CoA)                 | \$0.00  | 1  | \$15.00 | \$15.00 | DE    | 1   | Image           | January-95   | NO |
| 08 Promotional | The Foot Soldiers         | The Foot Soldiers, The Ashcan #1 (1996 Dark Horse Promo      | \$0.00  | 1  | \$3.75  | \$3.75  | DE    | 1   | Dark Horse      | January-96   | NO |
| 08 Promotional | Hellboy                   | Hellboy Animated: Phantom Limbs (Mini Comic Book)            | \$0.00  | 1  | \$8.50  | \$8.50  | DE    | 0   | Dark Horse      | October-06   | NO |
| 08 Promotional | Hellboy                   | Hellboy Animated: The Yearning (Mini Comic Book)             | \$0.00  | 1  | \$15.50 | \$15.50 | DE    | 0   | Dark Horse      | May-06       | NO |
| 08 Promotional | The Hulk                  | The Incredible Hulk Ashcan Edition (Rick & Marlo Wedding     | \$0.75  | 1  | \$9.95  | \$9.95  | DE    | 0   | Marvel          | January-92   | NO |
| 08 Promotional | Iron Man                  | The Invincible Iron Man MGC #1 (FCBD Promo)                  | \$0.00  | 1  | \$1.95  | \$1.95  | DE    | 1   | Event           | April-10     | NO |
| 08 Promotional | Lady Rawhide              | Lady Rawhide Mini Comic #1 (Wizard/Topps Promo)              | \$0.00  | 5  | \$2.50  | \$1.55  | AC    | 1   | Topps           | July-95      | NO |
| 08 Promotional | Legacy                    | Legacy Ashcan #1 (Entertainment Promo)                       | \$0.00  | 1  | \$4.95  | \$4.95  | AC    | 1   | Majestic        | September-93 | NO |
| 08 Promotional | Marvel Previews           | Special Dark Reign Edition/Dark Avengers #1 (FCBD Promo      | \$0.00  | 1  | \$14.95 | \$14.95 | DE    | 1   | Marvel          | January-08   | NO |
| 08 Promotional | Marvel Reading Chronology | Marvel Reading Chronology 2009 #1 (FCBD Promo)               | \$0.00  | 1  | \$4.95  | \$4.95  | DE    | 1   | Marvel          | May-09       | NO |
|                | 0 0,                      | · · · · · · · · · · · · · · · · · · ·                        |         |    |         | ·       |       |     |                 | •            |    |
| 08 Promotional | Marvel Spotlight          | Marvel Sampler November 2019 #1 (FCBD Promo)                 | \$0.00  | 1  | \$4.95  | \$4.95  | DE    | 1   | Marvel          | January-20   | NO |
| 08 Promotional | Metal Militia             | Metal Militia Ashcan Edition #1 (Entity Promo)               | \$0.00  | 1  | \$4.95  | \$4.95  | AS    | 1   | Entity          | May-95       | NO |
| 08 Promotional | The Mystery Men           | The Mystery Men!: San Diego Preview (#000316)                | \$0.00  | 1  | \$1.00  | \$1.00  | AS    | 1   | Burden          | January-95   | NO |
| 08 Promotional | The Nine Rings of Wutang  | The Nine Rings of Wutang #0 Genesis Edition (Wizard Pron     | \$0.00  | 1  | \$9.95  | \$9.95  | DE    | 0   | Artis           | January-99   | NO |
| 08 Promotional | Paradise X                | Paradise X Special Edition(Wizard/Marvel Promo)              | \$0.00  | 1  | \$2.95  | \$2.95  | DE    | 1   | Marvel          | January-01   | NO |
| 08 Promotional | Poizon                    | Poizon Ashcan Edition (Mini Comic book limited to 3000 cc    | \$0.00  | 1  | \$7.95  | \$7.95  | AS    | 1   | London Night    | January-95   | NO |
| 08 Promotional | Q Unit                    | Q Unit: Premier Edition #5 (Sealed #03851/GF Ashcan)         | \$0.00  | 1  | \$9.95  | \$9.95  | HP    | 5   | Harris          | January-93   | NO |
| 08 Promotional | SOLD! Resident Evil       | Resident Evil #1/ 1st App Appearance (FCBD Promo-RARE)       | \$0.00  | 1  | \$0.00  | \$0.00  | DE    | 1   | Marvel          | January-96   | NO |
| 08 Promotional | Rising Stars              | Rising Stars #0 (Wizard #0 /Top Cow Promo)                   | \$0.00  | 1  | \$4.95  | \$4.95  | DE    | 1   | Top Cow         | March-99     | NO |
| 08 Promotional | Shi                       | Shi Wizard #64-Ace #10/ Acetate Cover (Wizard/Ace Prom       | \$0.00  | 1  | \$50.00 | \$50.00 | DE    | 1   | Crusade         | November-95  | NO |
| 08 Promotional | Spawn                     | Spawn Fan Edition #1 (Overstreet's Fan Edition #16)          | \$0.00  | 1  | \$7.99  | \$7.99  | DE    | 1   | Image           | August-96    | NO |
| 08 Promotional | Spawn                     | Spawn Fan Edition #2 (Overstreet's Fan Edition #17)          | \$0.00  | 3  | \$13.99 | \$41.97 | DE    | 1   | Image           | September-96 | NO |
| 08 Promotional | Spider-Man                | Amazing Spider-Man #1(FCBD Promo - 1st Jackpot appeara       | \$0.00  | 1  | \$10.00 | \$10.00 | 1     | 1   | Marvel          | June-07      | NO |
| 08 Promotional | Spider-Man                | Ultimate Spider-Man Free Comic Book Special #1(FCBD Pro      | \$0.00  | 3  | \$5.00  | \$15.00 | 1     | 1   | Marvel          | May-02       | NO |

| 08 Promotional | Spumco Comic Book             | Spumco Comic Book Ashcan (Dark Horse Promo Predator/     | \$0.00  | 1  | \$18.95    | \$18.95    | AS           | 1 | Dark Horse       | November-95  | NO |
|----------------|-------------------------------|--|---------|----|------------|------------|--------------|---|------------------|--------------|----|
| 08 Promotional | Star Wars                     | Star Wars Tales-A Jedi's Weapon (FCBD Promo)             | \$0.00  | 1  | \$6.99     | \$6.99     | DE           | 1 | Dark Horse       | January-02   | NO |
| 08 Promotional | Superman                      | All-Star Superman Special Edition(FCBD Promo-GN 1st Cha  | \$0.00  | 1  | \$6.99     | \$6.99     | DE           | 1 | DC               | January-13   | BC |
| 08 Promotional | Swatter                       | The Amazing Swatter (Chick-fil-A Kid's Meal Giveaway-Sea | \$0.00  | 1  | \$3.50     | \$3.50     | KM           | 3 | Chick-fil-A      | December-10  | NO |
| 08 Promotional | TaoLand                       | TaoLand #3 Ashcan Edition (Sumitek Promo)                | \$0.00  | 2  | \$10.00    | \$20.00    | AS           | 3 | Sumitek          | January-95   | NO |
| 08 Promotional | Thor                          | The Mighty Thor Saga (FCBD promo)                        | \$0.00  | 1  | \$5.99     | \$5.99     | DE           | 1 | Marvel           | June-09      | ВС |
| 08 Promotional | Undertaker                    | Undertaker Collectors Issue (Wizard/Chaos!/WWE Promo)    | \$0.00  | 1  | \$3.99     | \$3.99     | DE           | 0 | Wizard           | January-99   | NO |
| 08 Promotional | The Walking Dead              | The Walking Dead FCBD 2013 Special (FCBD Promo)          | \$0.00  | 1  | \$5.95     | \$5.95     | DE           | 1 | Image            | May-13       | BC |
| 08 Promotional | War of Kings                  | War of Kings Saga (FCBD Promo)                           | \$0.00  | 1  | \$2.99     | \$2.99     | DE           | 1 | Marvel           | January-09   | ВС |
| 08 Promotional | Wetworks                      | Wetworks Classified #495/500 (Advance Promotional Ashc   | \$0.00  | 1  | \$49.95    | \$49.95    | AS           | 1 | Image            | January-94   | NO |
| 08 Promotional | Wetworks                      | Wetworks Classified #481/500 (Advance Promotional Ashc   | \$0.00  | 1  | \$49.95    | \$49.95    | AS           | 2 | Image            | January-94   | NO |
| 08 Promotional | Wetworks                      | Wetworks Classified #461/500 (Advance Promotional Ashc   | \$0.00  | 1  | \$49.95    | \$49.95    | AS           | 2 | Image            | January-94   | NO |
| 08 Promotional | Wild Thing                    | The Daughter of Wolverine (Wizard Promo -1st appearanc   | \$0.00  | 1  | \$10.00    | \$10.00    | DE           | 0 | Wizard           | January-99   | NO |
| 08 Promotional | Witchblade                    | Witchblade Unbalanced Pieces (FCBD Promo)                | \$0.00  | 1  | \$5.99     | \$5.99     | DE           | 1 | Image            | May-12       | ВС |
| 08 Promotional | Wolf-Man                      | The Astounding Wolf-Man (FCBD Promo)                     | \$0.00  | 1  | \$9.99     | \$9.99     | DE           | 1 | Image            | May-07       | NO |
| 08 Promotional | Wolverine                     | Wolverine Saga (FCBD promo)                              | \$0.00  | 1  | \$15.00    | \$15.00    | DE           | 1 | Marvel           | January-09   | ВС |
| 08 Promotional | The Wonderful Wizard of O     | The Wonderful Wizard of Oz Sketchbook (FCBD Promo)       | \$0.00  | 2  | \$4.95     | \$9.90     | DE           | 1 | Marvel           | January-08   | NO |
| 08 Promotional | Zen                           | The All-New Zen No.1 Ashcan Preview                      | \$0.00  | 1  | \$4.95     | \$4.95     | AS           | 1 | Entity           | January-93   | NO |
| 09 Autographed | Sample                        |  |         |    | \$0.00     | \$0.00     |              |   |                  |              | NO |
| 09 Autographed |                               |  |         |    | \$0.00     | \$0.00     |              |   |                  |              | NO |
| 09 Autographed | Aster #1(Silver Foil)         | Fractal Universe/CoA #22/500                             | \$29.95 | 1  | \$29.95    | \$29.95    | 1            | 1 | Entity           | October-94   | NO |
| 09 Autographed | Aster #1(Silver Foil)         | Fractal Universe/CoA #26/500                             | \$29.95 | 1  | \$29.95    | \$29.95    | 1            | 1 | Entity           | October-94   | NO |
| 09 Autographed | Aster #1 Ashcan Preview       | Five Signatures/ #13 of 500                              | \$14.95 | 1  | \$14.95    | \$14.95    | 1            | 1 | Entity           | October-94   | NO |
| 09 Autographed | Batman Vengence of Bane #     | Vengance of Bane #1/CoA #4461/10K                        | \$29.95 | 1  | \$1,120.00 | \$1,120.00 | Е            | 1 | DC               | January-93   | NO |
| 09 Autographed | Bill the Bull                 | Blow Torch Kiss #1                                       | \$5.00  | 4  | \$20.00    | \$20.00    | 1            | 1 | Boneyard Press   | January-94   | NO |
| 09 Autographed | Bill the Bull                 | Bunt Cain #1   | \$7.00  | 5  | \$35.00    | \$35.00    | 1            | 1 | Boneyard Press   | January-94   | NO |
| 09 Autographed | Birds of Prey Manhunt         | Part 1 of 4/CoA #106/200                                 | \$25.00 | 1  | \$25.00    | \$25.00    | 1            | 1 | DC               | September-96 | NO |
| 09 Autographed | Birds of Prey Manhunt         | Part 1 of 4/CoA #107/200                                 | \$25.00 | 1  | \$25.00    | \$25.00    | 1            | 1 | DC               | September-96 | NO |
| 09 Autographed | Bloodyhot #1                  | Variant comics Bloodshot spoof                           | \$19.99 | 1  | \$19.99    | \$19.99    | 1            | 1 | Parody Press     | January-93   | NO |
| 09 Autographed | Captain Crafty #2             | Brian Rice signature                                     | \$7.50  | 1  | \$7.50     | \$7.50     | 1            | 2 | nception Comics  | Winter-95    | NO |
| 09 Autographed | The Corpse #1/Spandex Ave     | Signed by Publisher (Mature Reader)                      | \$4.00  | 1  | \$4.00     | \$4.00     | 1            | 1 | ental Diversions | March-11     | NO |
| 09 Autographed | CreeD #1                      | CoA #1144/1500   | \$9.95  | 1  | \$9.95     | \$9.95     | 1            | 1 | ightning Comics  | September-95 | NO |
| 09 Autographed | CreeD #1                      | CoA #1145/1500   | \$9.95  | 1  | \$9.95     | \$9.95     | 1            | 1 | ightning Comics  | September-95 | NO |
| 09 Autographed | CreeD #1                      | CoA #1146/1500 (Variant Cover)                           | \$9.95  | 1  | \$9.95     | \$9.95     | 1            | 1 | ightning Comics  | September-95 | NO |
| 09 Autographed | Conan #1                      | Signed by Cover Artist Joseph Linsner                    | \$24.99 | 1  | \$24.99    | \$24.99    | 1            | 1 | Dark Horse       | January-04   | NO |
| 09 Autographed | The Dark #1                   | Signed by Writer Joseph Naftali (Red Foil)               | \$14.00 | 1  | \$14.00    | \$14.00    | 1            | 1 | ontinum Comics   | May-93       | NO |
| 09 Autographed | Dark Angel:Death Dream        | Signed by Daniel Presidio (Adult Only)                   | \$19.99 | 15 | \$299.85   | \$299.85   | 1            | 1 | Boneyard Press   | May-93       | NO |
| 09 Autographed | Dark Fantasies #1A            | Linsner Cover #324/1000 (Adult Only)                     | \$12.95 | 1  | \$12.95    | \$12.95    | 1            | 1 | Boneyard Press   | May-93       | NO |
| 09 Autographed | Dark Fantasies #1A            | Linsner Cover #325/1000 (Adult Only)                     | \$12.95 | 1  | \$12.95    | \$12.95    | 1            | 1 | •                | May-93       | NO |
| 09 Autographed | Death: The high cost of livin | Signed by Artist Bachalo/CoA #1516/10K                   | \$20.00 | 1  | \$20.00    | \$20.00    | 1of3         | 1 | Vertigo Comics   | March-93     | NO |
| 09 Autographed | Death & Taxes: The reals co   |  | \$2.50  | 1  | \$18.00    | \$18.00    | 1            | 1 | Parody Press     | March-93     | NO |
| 09 Autographed | Deathwatch 2000 Hybrids       | Signed by Neal Adams & Peter Storm                       | \$68.00 | 1  | \$68.00    | \$68.00    | 1            |   | ontinuity Comics | March-94     | NO |
| 09 Autographed | Deathwatch 2000 Hybrids       | Signed by Writer Peter Storm                             | \$12.99 | 1  | \$12.99    | \$12.99    | 1            |   | ontinuity Comics | March-94     | NO |
| 09 Autographed |                               | Signed by Daniel Presidio (Adult Only)                   | \$4.95  | 3  | \$14.85    | \$14.85    | 1            | 1 | •                | January-93   | NO |
|                |                               |  | 7       | _  | 7          | 79         | <del>-</del> |   |                  | , 50         |    |

| 09 Autographed | Dream Wolves #3              | Signed by Daniel Presidio (Adult Only)                     | \$4.95   | 2 | \$9.90   | \$9.90   | 1    | 3     | London Night   | February-93  | NO |
|----------------|------------------------------|--|----------|---|----------|----------|------|-------|----------------|--------------|----|
| 09 Autographed | Dream Wolves #3              | Signed by Daniel Presidio (Adult Only)                     | \$4.95   | 1 | \$4.95   | \$4.95   | 1    | 4     | London Night   | February-93  | NO |
| 09 Autographed | Dream Wolves #6              | Signed by Daniel Presidio (Adult Only)                     | \$20.00  | 2 | \$4.95   | \$4.95   | 1    | 6     | London Night   | May-94       | NO |
| 09 Autographed | Dream Wolves Swimsuit Sp     | Signed by Daniel Presidio (Adult Only)                     | \$12.95  | 1 | \$12.95  | \$12.95  | 1    | 1     | Dramenon       | January-95   | NO |
| 09 Autographed | Dream Wolves Swimsuit Biz    | Signed by Daniel Presidio (Adult Only)                     | \$12.95  | 8 | \$103.60 | \$103.60 | 1    | 0     | Gothic         | December-95  | NO |
| 09 Autographed | Devil Jack #3                | Signed by Tim Tyler / #672 (Mature Reader)                 | \$17.95  | 2 | \$35.90  | \$35.90  | 1    | 1     | NY Spectacular | January-95   | NO |
| 09 Autographed | Europa and the Pirate Twins  |  | \$14.95  | 1 | \$14.95  | \$14.95  | 1    | 1     | Gold M Press   | February-96  | NO |
| 09 Autographed | Extreme Sampler Ashcan #0    | <u> </u>   | \$49.95  | 1 | \$49.95  | \$49.95  | 1    | 3     | Image          | January-94   | NO |
| 09 Autographed | Fangs of the Widow #1        | Signed by Mike Wolfer (Mature Reader)                      | \$17.95  | 2 | \$35.90  | \$35.90  | 1    | 1     | NY Spectacular | January-95   | NO |
| 09 Autographed | Gothic Theatre Vol.1         | Signed by Daniel Presidio (Adult Only)                     | \$14.99  | 2 | \$29.98  | \$29.98  | 1    | 1     | Gothic         | January-96   | NO |
| 09 Autographed | Hurricane LeROUX #1          | Signed by Writer/Artists (Mature Reader)                   | \$2.50   | 1 | \$2.50   | \$2.50   | 1    | 1     |                | January-95   | NO |
| ٠.             | Java Town #3                 | Signed By Scott Saavedra (damaged front)                   | \$2.95   | 1 | \$2.95   | \$2.95   | 1    | 3     | SLG            | July-94      | NO |
| 09 Autographed | Java Town #3                 | Signed By Scott Saavedra                                   | \$12.95  | 1 | \$12.95  | \$12.95  | 1    | 3     | SLG            | July-94      | NO |
| 09 Autographed |                              | Signed By Scott Saavedra                                   | \$12.95  | 2 | \$25.90  | \$25.90  | 1    | 5     | SLG            | November-95  | NO |
| 09 Autographed |                              | Signed By Scott Saavedra (Last Issue)                      | \$12.95  | 2 | \$25.90  | \$25.90  | 1    | 6     | SLG            | June-96      | NO |
| 09 Autographed | Kabuki #1                    | Signed by David Mack/ Red Foil Cover (Mature Reader)       | \$69.99  | 1 | \$69.99  | \$69.99  | 2    | 1     | Caliber        | September-95 | NO |
| 09 Autographed |                              | Signed by David Mack (Mature Reader)                       | \$64.95  | 5 | \$324.75 | \$324.75 | 1    | 1     | Entity         | January-95   | NO |
| 09 Autographed | Kabuki Circle of Blood Ashca |  | \$64.95  | 2 | \$129.90 | \$129.90 | 1    | 1     | Entity         | January-95   | NO |
| 09 Autographed | Megaton Holiday Special #1   |  | \$10.95  | 1 | \$10.95  | \$10.95  | 1    | 1     | Entity         | January-94   | NO |
| 09 Autographed | Man o Saurs #0               | Signed by Bill Maus / Gold Foil Cover                      | \$10.95  | 1 | \$10.95  | \$10.95  | 1    | 1     | Entity         | January-94   | NO |
| 09 Autographed | Metallic Bliss #2            | Signed by Writer/Artists (Mature/Rare)                     | \$54.98  | 5 | \$274.90 | \$274.90 | 1    | 2     | Silver Tongue  | April-94     | NO |
| 09 Autographed | Mantus File #4               | Unknknown Signature  | \$3.00   | 1 | \$3.00   | \$3.00   | 1    | 4     | Eternity       | January-91   | NO |
| 09 Autographed | Mortal Kombat II-The Collec  |  | \$349.00 | 1 | \$349.00 | \$349.00 | 1    | 1     | Midway         | January-94   | NO |
| 09 Autographed | Night's Children             | Double Indemnity (Adult Only)                              | \$7.95   | 1 | \$7.95   | \$7.95   | 2000 | #1699 | FantaCo        | January-92   | NO |
| 09 Autographed | Night's Children             | Double Indemnity (Adult Only)                              | \$7.95   | 1 | \$7.95   | \$7.95   | 2000 | #195  | FantaCo        | January-92   | NO |
| 09 Autographed | Nightcry IV Platinum Edition |  | \$8.95   | 1 | \$8.95   | \$8.95   | 1    | 1     | Chaos!         | January-95   | NO |
| 09 Autographed | Necromancer #1               | Varient Photo Cover #518/2000 (Adult Only)                 | \$9.99   | 1 | \$9.99   | \$9.99   | 1    | 1     | Anarchy Press  | November-92  | NO |
| 09 Autographed | Normal Saga #1               | Signed by Artist (Mature Reader)                           | \$2.75   | 2 | \$5.50   | \$5.50   | 1    | 2     | Silver Tongue  | November-11  | NO |
| 09 Autographed | Normal Saga #1               | Signed by Artist / Writer (Mature Reader)                  | \$3.75   | 1 | \$3.75   | \$3.75   | 1    | 1     | Didactic       | February-96  | NO |
| 09 Autographed | Plastic Soda #1              | Signed by Artist / Writer (Mature Reader)                  | \$7.00   | 1 | \$7.00   | \$7.00   | 1    | 1     | Didactic       | February-96  | NO |
| 09 Autographed | Promise #1 Ashcan Preview    |  | \$5.00   | 1 | \$5.00   | \$5.00   | 1    | 1     | A.D. Press     | January-97   | NO |
| 09 Autographed | Promise Preview Ashcan       | Signed by Oscar Jimenez / #162-#167 of 200 (Mature Reader) | \$5.00   | 5 | \$25.00  | \$25.00  | 1    | 1     | A.D. Press     | January-97   | NO |
| 09 Autographed | Quasar #1                    | Signed by Mark Gruenwald/ Page1                            | \$9.99   | 1 | \$9.99   | \$9.99   | 1    | 1     | Marvel         | October-89   | NO |
| 0 1            |                              | , ,  |          | 1 | •        | ,        |      | 2     |                |              |    |
| 09 Autographed | Quasar #2                    | Signed by Mark Gruenwald/ Page1                            | \$9.99   | 2 | \$9.99   | \$9.99   | 1    |       | Marvel         | November-89  | NO |
| 09 Autographed | Razor Commemorative Edit     |  | \$39.95  |   | \$79.90  | \$79.90  | 1    | 1     | London Night   | January-95   | NO |
| 09 Autographed | Scorpion Moon Novella #4     | Signed by Don Chin /CoA/ #30/ 30                           | \$9.99   | 1 | \$9.99   | \$9.99   | 1    | 2     | Marvel         | November-89  | NO |
| 09 Autographed | The Strangers #1 ULTRAVER    |  | \$29.99  | 1 | \$29.99  | \$29.99  | 1    | 1     | Malibu         | January-93   | NO |
| 09 Autographed | Tales of the Dead #1         | Signed by Joe Monks (Mature Reader)                        | \$14.95  | 1 | \$14.95  | \$14.95  | 1    | 1     | Visual Anarchy | January-94   | NO |
| 09 Autographed | Torture One: Razor/Morbid    |  | \$19.95  | 1 | \$19.95  | \$19.95  | 1    | 1     | London Night   | July-95      | NO |
| 09 Autographed | Torture Two: Razor/Morbid    |  | \$19.95  | 1 | \$19.95  | \$19.95  | 1    | 2     | London Night   | July-95      | NO |
| 09 Autographed | Torture Three: Razor/Morbi   | <u> </u>   | \$19.95  | 1 | \$19.95  | \$19.95  | 1    | 3     | London Night   | July-95      | NO |
| 09 Autographed | Torture Four: Razor/Morbid   |  | \$19.95  | 1 | \$19.95  | \$19.95  | 1    | 4     | London Night   | July-95      | NO |
| 09 Autographed | X-O Manowar #46              | Signed by Andy Smith                                       | \$7.00   | 1 | \$7.00   | \$7.00   | 1    | 46    | Valiant        | August-96    | NO |
| 09 Autographed | Youngbroads Stripfile #1     | Signed by Artists (Mature Reader)                          | \$24.95  | 1 | \$24.95  | \$24.95  | 1    | 1     | Parody Press   | January-93   | NO |

| 0 1            | Zen Intergalactic Ninja #0   | Signed by Lee & Maus / Holographic Cover                  | \$100.00 | 3   | \$300.00 | \$300.00   | 1 | 0 | Entity         | January-93  | NO |
|----------------|------------------------------|---|----------|-----|----------|------------|---|---|----------------|-------------|----|
| 09 Autographed | ,                            | Signed by Lee & Maus / Chromium Cover                     | \$35.00  | 2   | \$70.00  | \$70.00    | 1 | 0 | Entity         | January-93  | NO |
| 09 Autographed | Zen Mercenary Blues #1       | Signed by Nat Gertler / #119 of 130                       | \$14.95  | 1   | \$14.95  | \$14.95    | 1 | 1 | Entity         | January-94  | NO |
| 09 Autographed | Zen Milestone Edition #1     | Signed by Steve Stern / Stern BC                          | \$20.00  | 1   | \$20.00  | \$20.00    | 1 | 1 | Entity         | January-93  | NO |
| 09 Autographed | Zen Milestone Edition #3     | Signed by Steve Stern / #8 Of 230 / Stern BC              | \$20.00  | 1   | \$20.00  | \$20.00    | 1 | 1 | Entity         | June-93     | NO |
| 09 Autographed | Zen Platinum Edition #1      | Signed by Obeta & Stern / CoA #500/2500                   | \$20.00  | 1   | \$20.00  | \$20.00    | 1 | 1 | Entity         | January-95  | NO |
| 09 Autographed | Zen Platinum Edition #1      | Signed by Obeta & Stern / CoA #580/2500                   | \$20.00  | 1   | \$20.00  | \$20.00    | 1 | 1 | Entity         | January-95  | NO |
| 09 Autographed | Zen Starquest #1             | Signed by Bill Maus / Platinum Edition                    | \$35.00  | 2   | \$70.00  | \$70.00    | 1 | 1 | Entity         | January-95  | NO |
| 09 Autographed | Zen Starquest #4             | Signed by Bill Maus / CoA #17of 30                        | \$14.95  | 1   | \$14.95  | \$14.95    | 1 | 1 | Entity         | January-94  | NO |
| 09 Autographed | Zen Starquest #4             | Signed by Bill Maus / CoA #18 of 30                       | \$14.95  | 1   | \$14.95  | \$14.95    | 1 | 1 | Entity         | January-94  | NO |
| 09 Autographed | Zen Video Warrior #1         | Signed by Nat Gertler / CoA #177 of 200 / Holographic Cov | \$14.95  | 1   | \$14.95  | \$14.95    | 1 | 1 | Entity         | January-94  | NO |
| 09 Autographed | Zen Official Authorized Sour | Signed by Cote & Stern / CoA                              | \$14.95  | 1   | \$14.95  | \$14.95    | 1 | 1 | Entity         | January-93  | NO |
| 09 Autographed | Zen Chromium Promo Card      | Signed by Steve Stern / CoA #4 of 200                     | \$24.95  | 1   | \$24.95  | \$24.95    | 1 | 1 | Entity         | January-93  | NO |
| 10 Magazine/Mi | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
| 10 Magazine/Mi | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
| 10 Magazine/Mi | ULTRA                        | ULTRA-Monthly Dec. #6                                     | \$0.50   | 1   | \$0.50   | \$0.50     | 1 | 6 | Malibu         | December-99 | NO |
| X1 Mature Read | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
| X1 Mature Read | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
| X1 Mature Read | Avengelyne                   | Avengelyne: Dark Depths Two                               | \$3.50   | 1   | \$3.50   | \$3.50     | 1 | 2 | Avatar         | March-01    | NO |
| X1 Mature Read | Axiom                        | Axiom(Collector 1st Issue)                                | \$2.50   | 2   | \$5.00   | \$5.00     | 1 | 1 | Icon Creations | August-94   | NO |
| X1 Mature Read | Dream Wolves                 | Swimsuit Bizarre  | \$2.50   | 5   | \$12.50  | \$50.00    |   | 0 |                |             | NO |
| X2 Adult Manga | Futaba-Kun                   | Futaba-Kun Change Manga                                   | \$2.95   | 2   | \$5.90   | \$5.90     | 5 | 2 | Ironcat        | August-00   | NO |
| X2 Adult Manga | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
|                |                              |   |          |     | \$0.00   | \$0.00     |   |   |                |             |    |
| X3 ADULT ONLY  | Sample                       |   |          |     | \$0.00   | \$0.00     |   |   |                |             | NO |
| X3 ADULT ONLY  | Tawny                        | Tawney's Tales  |          |     | \$0.00   |            |   |   |                |             | NO |
| TO THE OTHER   |                              |   |          | 550 | \$0.00   | \$7,120.06 |   |   |                |             |    |
|                |                              |   |          | 330 | Ç0.00    | 77,120.00  |   |   |                |             |    |